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= 9,867
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— o= 80,3443 x1H »230 18,480
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s 1,065
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= 14,022
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= 2,740
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03 A F=XH R =AY 1,500 1,500 0
OEXNZEN AHMHRFXAH 1,500, 000& 1,500
301 LA F 6,000 6,000 0
12 JIEtEA 3 6,000 6,000 0
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=X, HEESZ 2 A2Z 1,000,000 1,000
—NEMA HSHU(E2EH 2X L A2E) 1,720
A1 15,0002 * 102 150
- A0 20,0002 x202 400
)= 160,0002 x2S 320
o3 170,000 55 850
— DI AdxE 50,000 *127H & 600
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—NgAs EHA &g 100,0002 *4Z %23 800
02 2229t 58,933 76,409 A17,476
OAl& &HI R X b 58,933
—NHAND g28s) FNES
4,650,0002! *20H *5. 4% 503
— NS B2A ZHEH 129,700 6 779
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2,255,0002! 2,255
- 2T E90{(GeoDT 3.0) 739,200¢ 740
- BHOIS/W(Veritas Netbackup)
1,039,500€ 1,040
—YAXNMSAH MAS ALY 39,000,000 39,000
202 04 Hl 1,440 1,440 0
01 2101l 1,440 1,440 0
OB XSS HA 0t 20,0008 #4232 x6 2 1,440
X =T & A ALY 905,343 32,941 872,402
201 Lty 32,065 32,461 396
01 AR 22l 29,052 29,748 696
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—NEHEAILE SEEX 960
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-Gl E 160,000& x2S 320
- 23 170,000& x5 850
OXET=AL S 2| 5,000
—XNEBHEAN E2ES ME 5,000,000& 5,000
OfIas HH+g 2,900
~NEWEASIHNE B 2T
100, 000& 5H 33| 1,500
—AANZHAVE BH 29
100, 000& »7H 23| 1,400
O3& e ==& 165,000& 20 A 3,300
OXNEM=A JI&EE 107,000 *407H * 1. 1 4,708
OXNEMEA ZHS 2EEI =3
43,6003 * 1202 X200 & Xl 10,464
02 =224l 3,013 2,713 300
OxF3 B === 229
-3 82 =8 4,580& 50 229
OXNETHZAIAIY B2 &5 2,784
- SsJ*H 2,480 200 «53| 2,480
—giteH 3803 200 *43] 304
202 oddl 480 480 0
01 SLHOYI 480 480 0
OXHTHEZAL EE XA OHI
20,0003 x2F 22«6 480
301 LEEAS 872,798 0 872,798
12 JIEtE4 3 872,798 0 872,798
OXNEMEA At E2F 872,798,000 872,798
NETHEAAR (2 X) 69,319 51,101 18,218
= 69,319
201 Let24d] 69,319 51,101 18,218
= 69,319
01 At 2teltl 69,319 51,101 18,218
OXNEM=A =EH| 69,319,000& 69,319
= 69,319
FsdARANE SEEXXY 29 33,572 0 33,572
= 11,300
s 22,272
101 14 Hl 22,282 0 22,282
= 10,700
[ia 11,582
04 JIZHHZ2XNHEES 22,282 0 22,282
FSUARAOTISII2AESSEIXYE A2
BX(34l) 10,700
— o= 80,3443 x 1 120 9,642
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 9,642
—4UEE JIARE S 8,815 x 1% 120 1,058
= 1,058
ORSUALRAONTSIISHASEE XY
? B (XM=Yl 11,582
— o2 80,3443 x1H+130 10,445
—MHEE 10,445,000& *1.03% 108
—1E2E 10,445,000& *1.65% 173
— =202 E 10,445,000& *4.5% 471
—I0ALEH 10,445,000& *3.335% 349
—LoAINRAEH 349,000& x10.25% 36
201 LBH2E | 9,850 0 9,850
01 At 22l 7,150 0 7,150
ORSMUARANTESIISHAESEXIY 2
= 7,150
—SOIM 232 I 4% 100,000 «2021 2,000
—BUIC 2= SXY D2y
3,300,000& x14! 3,300
—E2= oM 603 20, 0000H 1,200
— B XA 3,000& » 1004 300
— 28 g% M 70,0003 *5H 350
02 =224l 2,700 0 2,700
ORESMASANASISHBBSEEY S
eH 23 2,480 50021 23| 2,480
OFRSULRAONTEISHASEEEXY
fHia SH =2l 110,000& »2H 220
202 O4dl 1,440 0 1,440
= 600
[ia 840
01 = LHA YI 1,440 0 1,440
OFRSULRAONTESIISHASEEEXY O
=l 20,0003 x2H 32 «12& 1,440
= 600
s 840
M=F=AALHF=A 199,691 183,939 15,752
S23 Y ASHUS UMY 187,767 171,743 16,024
101 @124l 21,089 0 21,089
04 D12t 22 HEE =+ 21,089 0 21,089
OEZ2Y =4 U AL 2 EEXZAM 21,089
— o= 80,3443 x 1 %230 18,480
—&THEE 18,480,000& *1.03% 191
—N82E 18,480,000& *1.65% 305
— IR =EE 18,480,000& 4. 5% 832
—2UAHLBE 18,480,000& *3.335% 617




A EXNEEDL
M EXZe

He MFAMGFA (cho &)
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
— LRI RYEHE 617,000& x10.25% 64
—=SXNEQUE 300,000& x1H +13] 300
—HENOHB 300,000 x 18 x13] 300
201 L2l 107,765 104,093 3,672
01 At 22l 98,892 95,220 3,672
Oget=&H| 2,400
—SZ2HEFAANYE EZ2H X L ABE 2,400
A1 15,0002 302 450
- A0 20,0003 158 300
= 160,000& 55 800
23 170,000& x5 850
OE2H=4 QHHAIE WM& & £X 55,200
—IMNEHSE &X 500,000& =104 5,000
—SE2HFA HHAIE A7 AX
400,000& *85H 34,000
—AEE HEHSEH & 100,000& *82H 8,200
— A H=ACHHE AX 40,000& 2004 8,000
OdtolEelE S =2HHE Hidel wuH
19,492,000& 14 19,492
OE2H=A CHUHAIE |RXE= 20,000,000& 20,000
o=g+y 1,800
—CRYFAANE HALY
100,000 »6H x33| 1,800
02 8323l 8,873 8,873 0
OA&EHIS X 7,973
—E2YFA ENEEMNNEEH SSAAE
PN 1,064,000& »7CH 7,448
—S2YFA ENZENNETH SSAAE
SN2 525,000 = 1CH 525
OAQGHEKAIS SH2D| AIBR23
25,0003 «3CH*12& 900
202 oddl 1,440 1,440 0
01 = LH 4 4l 1,440 1,440 0
OZS2YANEE SEZXZ A (I
20,0003 «3H x4 U 63 1,440
401 Al& Bl 28I 40,000 50,000 210,000
01 A& HI 40,000 50,000 A 10,000
OL2Y=A A2 RX2e 249
40,000,000& 40,000
403 XA SA=0l& 17,473 16,210 1,263
02 SO 2SOICHSH 2 X 2 &AM HI 17,473 16,210 1,263
OIZNF=2TFEANLY RXNES 17,473,000 17,473
CRYFLMNY E 5,000 5,000 0
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ol MFEAAEX (crel:za)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
201 Bt A | 5,000 5,000 0
01 AP 2t 2l Yl 5,000 5,000 0
OEz2d=xz4A =8 5,000,000& 5,000
TE2YHFAINE2E SABSAY 6,924 7,196 N2T2
403 ItXISHXMSA201 & 6,924 7,196 N272
02 BII2SH S 2 A 2 & AFE B 6,924 7,196 N2T2
S2HFAIEE RIEL AL
6,924,000 6,924
HHSHHH(EXNFLED) 106,347 109,410 A 3,063
JI2ZH(EXNEED) 106,347 109,410 A 3,063
JI2HH(EXNEE D) 106,347 109,410 A 3,063
201 LEt2 Y| 34,947 38,610 N 3,663
01 At 22l Yl 34,697 38,360 N 3,663
Odet=gH| 13,961
—2AMII2 AIRE3H|
5,000& x20H 128 x90% 1,080
— SASX 1,440
- A4 20,0003 *20H *45F A x90% 1,440
—A E-EH 170,000 *1CH *23] *90% 306
—dIiOIMEZSE EH 198,000 *8CH *43] *90% 5,703
—ZeZeH EY 259,900 *4CH x43] x90% 3,743
— 2A EY 55,000& *1CH 43| *90% 198
— 2AD EY 200,000& *1CH *33] *90% 540
—HdeRs= 756
ESION| 20,000& *2& *12& x90% 432
- XX 15,000 *2& *12& *90% 324
—pHa H4)| e DS
18,000 = 1CH*12& *90% 195
OZ2 &l 20,736
—2AJRYS S04
8,000& x20H x 12 x 128 x90% 20,736
02 =294l 250 250 0
OAE &l st 250
— S A 200, 0003 =104 200
— A 50,000& = 1CH 50
202 04| 67,200 67,200 0
01 2LHOHI 67,200 67,200 0
OoZUINI2g =3 oyl
20,000& 20 x 142 x12& 67,200
203 R =&Y| 4,200 3,600 600
04 ENSI R =AY 4,200 3,600 600
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